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ij) # hill 5 I = JLENRS
waoz+F1TH 143 153 296 148
o F2TH 233 269 502 2317
ol 1 T H 90 120 210 115
Wl 2 T H 498 499 997 460
ot B 1 T H 272 310 582 282
ot B 2 T H 216 202 418 204
FEH1TH 154 157 311 155
FEHH 2TH 243 246 489 228
FEHH 3TH 310 312 622 271
ode 1 T H 161 197 358 172
k& 2 T H 153 218 371 215
EEH 1 TH 219 260 479 263
FESHEH 2TH 197 224 421 181
2% 1 T H 362 397 759 376
2% 2 T H 181 194 375 192
£ K% 3 T H 337 306 643 272
2% 4 T H 224 208 432 202
AN H 1 T H 637 654 1,291 604
A B 2 T H 335 361 696 289
x* & 1 T H 330 315 645 321
X5 2 T H 338 325 663 346
x*J5 3 T H 412 456 868 455
£ K 1 T H 620 729 1,349 631
£ K 2 T H 799 171 1,570 677
XK 3 T B 892 902 1,794 187
& 1 T H 332 315 647 288
B & 2 T B 840 833 1,673 7317
B & 3 T B 1,013 978 1,991 906
® & 4 T H 161 182 343 153
& b5 T B 60 61 1217 38
Fa M HT 599 579 1,178 531
ELtR1THEH 736 122 1,458 7
ELt R 2TH 154 158 312 120
HZ 2 1 T H 537 634 1,11 H41
= 5 2 T H 285 251 536 306
il =) )= 1,523 1,500 3,023 1,230
7\ £t 14, 602 14,998 29, 600 13, 650
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[ie] 27 24 5H1 18
= = 167 INA 338 140
=] Hy | 96 91 187 67
= itk 297 283 580 186
R 193 136 979 352
T =1 178 196 374 142
PR H 260 254 514 203
4 T iR 159 135 294 107
A\ & 643 H86 1,229 483
it & L 492 H31 1,023 487
w & A 479 159 938 355
B R 363 335 693 325
= R 219 209 128 149
G 1 236 236 172 T67
=) = 210 219 429 150
7 = E 3 % 10
& A A 720 T60 230 T65
7\ E 6, 328 6,275 12,603 5,109
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¥ 591 H8'7 1,178 459
£ EX 647 698 7,340 537
& iR 119 116 23h 84
& [if] 120 113 233 17
b 229 224 453 154
¥ H JI 418 441 859 281
¥k Hy H 135 157 292 104
7\ E 2, 254 2,336 4,590 1, 746
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E £ E 420 449 869 367
T £ E 636 655 1, 291 604
= = 1, 485 1,457 2,942 1,221
¥ R 7 69 142 10
FE 1 T B 143 154 297 126
¥} ® 2 T H 255 277 532 223
IN &t 3,012 3,061 6,073 2, 581
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i A [ 541 600 1, 141 439
i iR 115 111 226 75
X i 150 129 2719 114
18 JR 296 272 568 228
IN B 1,102 1,112 2,214 856
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53 JR 218 214 432 153
IN iR E 75 62 137 55
% VS E 5217 H21 1, 048 403
kB T 130 399 820 310
2 H 273 254 5217 209
2 H 387 371 758 266
b 8 48 41 89 37
A I =i 112 114 226 88
IN &t 2,070 1,976 4,046 1,521




[EPHX ]

o % Rl - A S %
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E[] =i 379 349 728 295
IJ& Z A 168 157 325 138
ik By E 301 269 570 237
A\ 15 119 145 264 123
ik & 144 143 287 95
A =i 153 154 307 108
g A 146 122 268 101
= & 2 27 50 3
IN &t 1,732 1, 668 3,400 1,363
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W% Rl - A S %
2 P m H 621 045 1,266 498
X =2 =i 261 283 544 233
R V| 151 175 326 119
23 B 219 207 426 153
& 7N iR 288 285 573 205
%= H 4317 414 845 311
- - 771 7,000 3,980 7519
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= gy A 2217 231 458 154
] JR 171 169 340 122
i 5 90 82 72 o7
% = 53 53 106 39
7N 1tk % 56 48 104 37
X A 7 63 54 117 44
A gy X 85 148 233 123
X H 140 127 267 101
JI H 04 T2 136 64
n = 929 984 7933 757
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A 1k IS 258 260 518 216
A = JI 273 219 552 247
£ = F 57 53 110 45
JI E 18 16 34 19
2] yal 75 65 140 56
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